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O0630p Ceccum 2: [Nogavya maTepuana
YpPOKa Ha aHIMTMUCKOM A3blKe

 [lopaya maTepunana Ha aHITIMUCKOM AA3bIKE
* Kpntepum otbopa marepmarnoB Ans ypoka
» Pabota c TekcTtom

* Al3amepeHne YntabenbHOCTU U aganTaLus
TekcTa

* [lpakTnyeckne noeun anga ypoka



OxupaemMble pe3ynbraTthbl

K KOHLY ceMuHapa cnyLuaTenu yMetoT:

* OTOMpaTb MaTepmana ypoka cornacHo
KpuTepusim CLIL

* NSMEPATb YNTabENbHOCTb TEKCTA

* 0OBACHATL CNOCODLI U3MEPEHUS
YMTabENbLHOCTU TEKCTA

* HAa3blBaTb OCHOBHbIE 3TAllbl pa6OTbI C
TEKCTOM



[Topgaya maTtepuana Ha aHIFIMMCKOM
A3blKe

Mamepuan ypoka- 3mo UHgopmauyus,
ucriorib3yemas 0r1s moao, 4mobbl IomMoyb
yyauwumMmcs rnoHIms uoeu U cMmbicsi Hogou
membI.

Mamepuar s8r15emcsi 0CHO80U Kax0020
YPOKa.



Kputepuun otdbopa matepuana ypoka

« MynbTMMO4anbHOCTb N Ppa3HOOOpPa3HOCTb
MaTepuarnoB (peanbHble NpeaMeTbl, CXEMb
NI MOAENU, YCTHOE OO bSACHEHUE YYNTENS

n.T.a.)
« Obbem maTepuana

« HarnaaHocTw

e 3HaHMEe yHallMMUCH I'IpG,EI,MGTHOVI NMEKCUKN
N TEPMUNHOJTIOTUN

« [locTynHOCTbL MaTepuana ang BOCNpUATUSA



MynbsTMoOAanbHOCTbL M Pa3HOOOPA3HOCTb

MaTtepuanos

YCTHbI MaTepmaJﬂ?"

[TCbMEHHbLIN MaTepuan
BusyanbHbIN MaTepuan

[1lpakTnyeckmun martepman

eventually both enantiomers of 11 would be available for comparison with the natural

i‘r’*K]ﬁL rJﬁ" Kli

MeO.C Cco.H MeO,C 1 MeO_C PPh, |

product.

HO.C COH
63 64 65 66

) Ac2O. reflux. 16 h (63 %): b) MeOH. reflux. 1h (86 %): ©) I2. Pb(AcO)s. CCls (60 %):

d) PPhs. benzene (61 %)

Scheme 14. Synthesis of rac-66.

Starting from v ava 3-methyl-glutaric acid (63) the corresponding
anhydride was obtained after 16 h reflux in acetic acid anhydride. followed by
hydrolysis in methanol to the half acid ester 64. This was reacted in a Hunsdiecker
iodination with I and Pb(OAc) in CCls to the iodo derivative 65. Reaction with
triphenylphosphine in benzene gave the desired phosphonium sall 66 as a racemic
mixture. The iodo derivative proved to be quite instable so immediate reaction with

triphenylphosphine was necessary, first without heating and after 10 h by heating the




[MpumMepbl pa3snnYHbIX MaTepmnanoB

Mpumep Bup Mpeamet CopepxaHue TeMbl A3bikOBOM acnekT
mMaTtepuana maTtepuana
Mopgenb BusyanbHbIN Bnonorus PacnonoxeHue yacten Mpeanorun MecTa, Takue Kak on the right/left,
yenioBeyeckoro |martepuan Tena above, below, under/underneath.
Tena Ilekcuka: yacTu Tena head, heart, lungs, stomach
Mpe3eHTauus YCTHbIN UHdopmaTtuka | PasznuyHble Bugbl namatu | Corosbl
Power Point Matepuan (3anomuHaroLiero Firstly, secondly, next, finally

yCTpOMCTBa)
OemoHcTpauusa | YCTHbIN dusuka BbicoTa n CKOpocCTb; f3bIK npeanonoXxeHunsa
MsYa, netAwero | matepuvan OnucaHue pyHKUMN, YcnosHble npeanoxeHus (If ... will).
Ha paccTosiHuu 1 onpeneneHHbIX BbICOTOMN fA3bik BonpocoB: What do you think might happen
MeTpa oT nona MsAYa, OTCKOYUBLLEro ot if...?

nona
AKCNepuMeHT MpakTnyeckun | Xumwus Kak o6pasyroTtcsa A3bIK MUHCTPYKLUKU, HAaNpUMep Ucnonb3oBaHue
no MaTepman cTanarmMuThl noBenuTenbHOe HaKNOHeHue rnarona.
NonvYeHuio Ha3sBaHue aneMeHTOB Ha aHITIMINCKOM si3blke

y MgS04 is MGSO four

cTanarmmToB
Cxema, MUcbMeHHbIN Buonorusa Mpouecc romeocTtasza B CnoBa, yka3bliBaloLLiue Ha npotecc,
onucbiBawoLwaa | MaTepuan XXUBbIX OpraHu3amax First, next, then, afterwards, after that, when
romeocras

(BO-nepBbIX, crieayoLWnin, 3aTem, nocne 3Toro,
BMocneacTBUM, KOrAa, a TO BpeMs Kak, MoTOM)




[Topgaya maTtepuana Ha aHIFIMMCKOM
A3blKe

[1py NnpenogaBsaHuK NpeaMeTa Ha aHTTMTMNCKOM
A3blKe, crneayeT y4nThbiBaTb HECKONMbKO
doakTopOB, BNUAKLWMX HA Nogady matepuana:

1. Matepunan ypoka OofmKeH COOTBETCTBOBATDL
MHTENNEeKTyarnbHOMY N akageMnyeckomy
YPOBHIO yYaLLNXCH

2. Matepunan gomkeH nogaBaTtbCca Ha A3bIKe,
COOTBETCTBYHOLLEMY YPOBHIO yYaLLNXCS

* Marepuwan, cooTBETCTBYIOLLMIN KOTHUTUBHOMY YPOBHIO Y4ALLMXCS, HE
BCerga COOTBETCTBYET YPOBHIO A3blKa Y4YaLLUXCH



TekcT no ouonorum

People aged 12 to 18 are called teenagers. They
start to look quite different. The period during
which these changes take place is called
puberty. Boys and girls start look more like adult
men and women. When you become am
adolescent, you become independent of your
parents.

(Dale, van der Es, and Tanner, 2010, p.40)



Kak uameputb AOCTYNHOCTb
MaTepuana gnsa BOCNpuUAaTUA
yJyawmxca?
« KakoB 00beM TeKkcTa?
« KakoB 00beM Ka)nooro absaua B Tekcte?
« KakoBa gnunHa npegnoXxXeHnn?

 Vicnonb3yoTca Nn HarnagHoCTU Ang
nogaepxaHnsa noHMMaHua?

« Kakon Tun s3blka (yoexxgeHue, onucaHme
nnn oo bACHEHNE) UCNONMb3yeTcsl B AAHHOM
TEeKCcTe?



OueHunTe TeKkCT

Parts of a mushroom

A mushroom has two parts. The part underground is called the mycelium.
It gets food for the mushroom. Sometimes it dies quickly, but if it gets enough
food it may live for hundreds of years.

The umbrella-shaped body of a mushroom that we can see is called the
fruit or sporophore. It only lives for a few days. The fruit starts out as a small
button which grows into a stalk and a cap. The stalk or stem grows quickly
because it can absorb a lot of water.  As the cap becomes larger
it unfolds like an umbrella. Soon small plates, called gills, appear under the
mushroom’s cap. They have small seeds or spores on them. When these
spores fall off the mushroom the wind blows them away. If they fall on a
warm, wet area a new mycelium develops.

Mushrooms can have a diameter of up to 40 cm. Although some may be
very colourful, most mushrooms are white, brown or yellow.



OueHunTe TekcT

Compounds
A compound is created when elements chemically combined. Elements can combine by undergoing

a chemical change with one another or reacting. A chemical change occurs when a substance is changed
into a new substance with different properties. Chemical reactions form compounds. A chemical reaction
is when atoms are rearranged into new combinations of atoms with other substances. The atoms join in
different patterns to create new substances that have different chemical properties. Chemical changes

can break down some compounds into their elements.

Other compounds will break down to form simpler compounds instead of forming elements. These
compounds that are simpler can then be broken down into elements through more chemical changes. For
example, carbonated beverages get their "fizz" from a compound called carbonic acid. When the can of
soda is opened, the carbonic acid breaks down into carbon dioxide and water, therefore, making the soda
fizz. Through chemical changes, this carbon dioxide could then be broken down into the elements carbon,

oxygen, and hydrogen.



Kak usmeputb OCTYNHOCTb
MaTepuana ansa BoCnpuaTus
yJdyawmxca?

X2 ﬂ,J'II/IHHbIe npeanoxeHnd ¢ HECKOJIbKMMU NMpnaaTo4HbIMA
TPyAHbI ANAd BOCNPUATUA

% UYem Kopoye npennoxeHus, Tem rierde oHn byayT
BOCNPUHUMATLCH

<+ TeKCTbl C HECKONbKMMW 3arorioBkamMu u
HarNnAAHOCTAMUKAPTUHUKA U UIIOCTPaLUUK, U TEKCTbI,
pPa3bUTble HA HECKOMNbKO YacTen, BOCNPUHUMAIOTCS
nyJile Yem AfMHHbIE U HaCbIWEHHbIE TEKCTHI



Kak usmeputb OCTYNHOCTb
MaTepuana gns BoCnpuaTus

+ Kakue Bpemen4 HAFSMETéRonb30BaHb! B

TEeKCTe?

*Hem bonbLie ncnosnb3yoTcda 6ornee CroXHbIe NN HEN3BECTHbIE
ydyalwmmca BpeMeHa (ycroBHble NpeanoXeHnst Unu ctapagarternbHble
npuyacTusi), TeM He OOCTYMNHEE TEKCT AJ13 BOCNPUATUS

* CKONbKO HOBbIX CIOB NCMOJNb3YyEeTCHA B TEKCTE?

« Kakue crioBa unu crioBocoveTaHnsa OJOSMKHbI
3HaTb UM pacno3HaBaThb y4daljmeca?

« KakoBa annHa cnos?

*Yem OonbLlUe HOBbIX CIIOB B TEKCTE, YEM CrNoOXHee AN
BOCMNPUATUSA TEKCT

* Yyaumecs nyyuwe 3afnnoMmMHaroT U NOHMMalT OAHOCI10XKXHbIE
CJ10Ba, HEXEJIN YEeM CI1oBa N3 HECKOJIbKNX CJ10B



PekomeHaauum no pabote C

TEKCTaMum
« ObpaTtnuTe BHMMaHMe, MOHUMALOT I BaLUw
yyallmnecs BpemMeHa rriarosia, Harnpmmep:
npaBUribHbIE U HEMNPABUIbHbIE rMarosibl
Write-Wrote-Written

 BbligenuTe 3T rnaronbl B TEKCTE UNA
COCTaBbTe OTAENMbHOE 3aaHnNe no paboTe
C TaKMMU rnarosiamm

* [TocuntanTe KonmyecTBO HOBbIX CI10B,
KOTOPbIX BO3MOXHO yyalleca He 3HaloT

MpaBuno Nel: He 6onble 10-15 HOBbIX
cnoB (5%) Ha ogHY cTpaHuLy



PekomeHaauum no pabote C
TeKCTamMn

* [lpn cocTaBneHnn nnaHa ypoka 3apaHee
onpegenute, 3Ha4YeHMe Kakux crios
crieayeT oObSCHUTL Nepen YTEHNEM
TEeKCcTa

* Ecnn He 0OBbACHUTL 3HaYeHne, He3HaHue
KaKMX CINOB MOXET NPenaTCcTBOBaTb
NOHMMAaHUIO CMbICa TEeKcTa?

* [lomornte yyawimmcs yragatb 3Ha4eHune
HEeWN3eCTHbIX CINOB MO KOHTEKCTY UMK No
doopmMe (npucTtaBku, CyPdPUKChbI)



PekomeHaauum no pabote co

crioBamMu

 [loka3sbiBanTe KapTUHKK, BUOeomartepuansl Unu
anarpamMmmbl Ons O0ObSICHEHUA BaXXHbIX MOHATUN

(KOHUEeNTOoB), YTOObLI y4allmecd MOrnu MOHATb
CMbICI

e OOACHUTE 3Ha4YeHMe <CchoB NoO Temam.
Hanpumep, MeHTanbHble  KapTbl, 4YTOObLI

yyaljueca MOMMu BUOETb CBA3b  Mexay
pa3NNYHbIMN CIIOBaMM

o [lanTte nerkme CMHOHMMbI CI10B
* lcnonb3ynte MUMUKY U XKECTbI

* [1pn OOBbSACHEHUN abCTPAaKTHbLIX MOHATUN, AAUTE
KOHKPETHbIE MPUMEpPHbI



N3amepeHue YyntabenbHOCTU TEKCTA

OHNanH UHCTPYMEHTbI AN NU3SMEPEHUSA
4yntabenbHOCTU TEeKCcTAa:

* SMOG: Simple Measurement of Gobbledygook
(www.harrymclaughlin.com/SMOG.htm)

% Readability index calculator

(www.standards-schmandards.com/exhibits/ri
X)




Pe3ynbraTthl OHNavH NPOBEPKU

Parts of a mushroom

A mushroom has two parts. The part underground is called the
mycelium. It gets food for the mushroom. Sometimesit dies quickly, but if it
gets enough food it may live for hundreds of years.

The umbrella-shaped body of a mushroom that we can seeis called
the fruit or sporophore. It only lives for a few days. The fruit starts out as a
small button which grows into a stalk and a cap. The stalk or stem grows
quickly because it can absorh a lot of water. As the cap becomeslarger
it unfolds like an umbrella. Soon small plates, called gills, appear under the
mushroom’s cap. They have small seeds or spores on them. When these
spores fall off the mushroom the wind blows them away. If they fall on a
warm, wet area a new mycelium develops.

Mushrooms can have a diameter of up to 40 cm. Although some may
be very colourful, most mushrooms are white, brown or yellow.
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Apantauusa TekcTta: YnpolieHue

A3blKa

MeToa ynpolieHus

OpuruHan Tekcrta

YnpoLweHHbIN TEKCT

3aMeHUTe CIoXHOoe Ha3BaHune
TEeKcTa Ha KOPOTKOE, YTOObI
ynpoLleHHOE Ha3BaHne
oTpakana cogepxaHue TekcTa

Sources of radiation

NcTouHMKM pagnayun

Where does radiation
come from?

OTtkyoa nget
pagnauuna?

[TocTaBbTE OCHOBHYIO NOEH B
Havane TekcTa u ab3aua

In 1972 a detailed survey
was made of average
annual whole-body does
to the USA population
from various sources

Radiation exposure is
how much radiation a
person receives

[lo6baBbTe Noa3aronoBku ANid
ab3aues

bes nog3aronoBkoB

3akn4yeHune

Ybepute NULLHIOW
MHGOPMaLMIO UK CrioBa

Remember, some people
got enough to make up
for the vast majority who
got none!




Apantauua TekcTta: YnpouieHue

A3blKa

MeTopa ynpolieHus

OpuruHan Tekcra

YnpoLweHHbIN TeKCT

Pasgennte AnNMHHbIE, CNOXHbIE
npegnoxeHna Ha ase unu 6onee Yactn,
KOTOpble BKINIOYAKT TONLKO OAHY UAEH
(10-15 cnoB). PekomeHayemasa CTpyKTypa
npeanoxXeHns:
Ckasyemoe+nognexatliee+apyrue crosa

Occupational and miscellaneous
artificial exposures averaged
about 1-2 mR/y (...) global fallout
from nuclear testing made up
about 6 mR/y; medical exposures
(X-rays, radiotherapy, etc.) were
good for nearly 100 mR/y; and
natural background averaged
about 120 mR/y

1. The survey showed that the
average radiation exposure at
work and from other various
sources about 1-2 mR/y
(milliRdntgen per year).

2. The radiation from the fallout
from nuclear testing was about 6
mR/y.

3. Medical exposure (X-rays,
radiotherapy) was nearly 100
mR/y and natural background
radiation was about 120 mR/y

MeHanTe nacCcuBHbIN 3aror Ha akTUBHbIN
3anor

A detailed survey was made

A survey in the U.S.A. looked at

MeHsinTe cnoXkHble rnaronbl Ha NnpocCThbIE
rnarosnbl

Global fallout from nuclear
testing made up about 6 mR/y

The fallout from nuclear testing
was about 6 mR/y

3ameHnTe meTtadopbl Unu
dpaseonornambl Ha 6ornee To4HbIE U
KOHKpETHbIE CrioBa

Although this begs the question
of ‘extraordinary cases’...

This may lead us to ask: what
about ‘extraordinary cases’ ...




ApganTnpoBaHHbIN TEKCT

1. Original text (adapted from musr.physics.ube.ca/~jess/r/skept/RadHaz/node8.html)
Sources of Radiation

In 1972 a detailed survey was made of average annual whole-body doses to the U.S.A. population
from various sources. Occupational and miscellaneous artificial exposures averaged about 1-2 mR/y
(remember, some people got enough to make up for the vast majority who got none!); global fallout
from nuclear testing made up about 6 mR/y; medical exposures (X-rays, radiotherapy, efc.) were
good for nearly 100 mR/y; and natural background averaged about 120 mRly. The numbers have not
changed much in the intervening years. One must conclude that for the average person there are only
two significant sources of radiation exposure: medical and natural. Although this begs the question of
‘extraordinary cases’ who receive larger exposures in accidents such as Chernobyl, it still helps to set
perspectives for those examples.

2. Simplified text

Where does radiation come from?
Radiation exposure is how much radiation a person receives.

Survey

In 1972, a survey in the U.S.A. looked at the average amount of radiation that people

received in a year from various sources. This was measured in mR/y, milliRontgen per year. The survey
showed that the average radiation exposure at work and from other various sources about 1-2 mR/y
(milliRontgen per year); the radiation from the fallout from nuclear testing was about 6 mR/y; medical
exposure (X-rays, radiotherapy) was nearly 100 mR/y and natural background radiation was about

120 mR/y. This information is still true today. The survey results are presented below:

Radiation exposure
i \
i 3 Natural
Work Nuclear testing Medl'cal (X-ray, e
radiotherapy) exposure
1-2 mRfy 6 mR/y 100 mR/y 120 mR/y

Conclusion

We must conclude that for the average person there are only two significant sources of radiation
exposure: medical and natural. This may lead us to ask: what about ‘extraordinary cases’ who receive a
lot of radiation exposures, in accidents such as in the nuclear plant at Chernobyl? These cases should be
put in the right perspective, and this conclusion helps us to do it.




Bonpocbl-OTBETHI

* [lepen Tem oTNpaBUTb BOMNPOCHI TPEHEPY,
obcyanTe BonNpocCkl B ayanTopun



Pednekcua aHA

 To, YTO 4 3HaN/-a 40 Ha4arna oHnaunH-
ceMunHapa

* To, 4TO 4 y3Han/-a cerogHa Ha oHNaWH-
ceMmHape

* To, YTO A 00sA3aTENBHO OYAY UCMNONL30BaThH B
CBOEWN NpaKTUKe

* To, YTO A HE coBCEM MOHAM/-a
ceroaHsa

* To, 4TO A X0oTen/-a bbbl y3HaTbL 40 KOHUA
OHManH-ceMnHapa




